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13 3634 ¢ 3748 3804 3859 3914 3968 | 76 13 6366 6309 6252 6196 6141 6086 6032 | 76
14 3968 4021 4074 4127 4178 4230 4281 | 75 | 14 6032 5979 5926 5873 5822 5770 5719 | 75
15 0.4281 | 9.4331 | 9.4381 | 9.4430 | 9.4479 | 9.4527 | 9.4575 | 74 15 |10.5719 10.5669 110.5570 [10.5521 [10.5473 [10.5425 | 74
16 4575 4622 4669 4716 4762 4808 4853 | 73 16 5425 5378 | 5284 5238 | 5192 l 5147.| 73
17 4853 4898 4943 4987 5031 5075 5118 | 72 17 5147 5102 5013 4969 4925 4882 | 72
18 5118 5161 5203 5245 5287 5329 5370 | =71 18 4882 4839 4755 4713 4671 4630 | 71
19 5370 5411 5451 5491 5531 5571 5611 | 70 19 4630 4589 1509 4469 4429 4380 | 70

20 | 9.5611 | 9.5650 | 9.5689 | 9.5727 | 9.5766 | 9.5804 | 9.5842 | 69 20 [10.4389 |10 4350 |10.4311 10,4273 [10.4234 10.4196 [10.4158 | 69
21 5842 5879 5917 5954 5991 6028 6064 | 68 21 4158 4121 4083 1046 4009 3972 3936 | 68
22 6064 6100 6136 6172 6208 6243 6279 | 67 22 3936 3900 3864 | 3828 3792 3757 3721 | 67
23 6279 6314 6348 6383 6417 6452 6486 66 23 3721 3686 3652 | 3583 3548 3514 66
24 6486 6520 6353 6587 6620 6654 6657 | 65 24 3514 3480 3447 | 380 3346 3313 | 65

95 | 9.6687 | 9.6720 | 9.6752 | 9.6785 | 9.6817 | 9.6850 | 9.6882 | 64 25 |10.3313 |10.3280 |10.3248 |I( 10.3183 [10.3150 [10.3118 | 64
26 6882 6914 6946 6977 7009 7040 7072 | 63 26 3118 3086 3054 | 2991 2960 2928 | 63
27 7072 7103 7134°| 7165 7196 7226 7257 | 62 27 2998 2897 2866 | 2804 2774 2743 | 62
28 7257 7287 7317 7348 7378 7408 7438 61 28 2743 2713 2683 2622 2592 2562 61
29 7438 7467 7497 7526 7556 7585 7614 | 60 29 2562 2533 2503 2444 2415 2386 | 60
30 | 9.7614 | 9.7644 | 9.7673 | 9.7701 | 9.7730 | 9.7759 | 9.7788 | 59 30 |10.2386 [10.2356 [10.2327 (10 2299 [10.2270 [10.2241 |10.2212 | 59
31 7788 7816 7845 7873 7902 7930 7958 | 58 31 2212 2184 2155 2197 2098 2070 2042 | &
32 7958 7986 8014 8042 8070 8097 8125 | 57 32 2042 2014 1986 1958 1930 1903 1875 | 57
33 8125 8153 8180 8208 8235 8263 8290 | 56 33 1875 1847 1820 1792 1765 1737 1710 | 56
34 8290 8317 2344 8371 8398 8425 8452 | 55 34 1710 1683 1656 1629 1602 1575 1548 | 55
T35 | 9.8452 | 9.8479 | 9.8506 | 9.8533 | 9.8559 | 9.8586 | 98613 | 8¢ 35 |10.1548 [10.1521 [10.1494 [10.1467 |10.1441 [10.1414 |10 1387 | 54
36 8613 8639 8666 8692 8718 8745 8771 | 53 36 1387 1361 1334 1308 1282 1255 1229 | 53
37 8771 8797 8824 8850 8876 8902 8928 | 82 37 1229 1203 1176 1150 1124 1098 | 1072 | 52
38 8928 8954 8980 2006 9032 9038 9084 | S1 38 1072 1046 1020 0994 0968 0942 | 0916 | &1
39 9084 9110 9135 9161 9187 | 9212 | 9238 | 50 39 0916 0890 0865 0839 0813 0788 | 0762 | 50
40 | 9.9238 | 9.9264 | 9.9289 | 9.9315 | 9.9341 | 9.9366 | 9.9392 | 49 40 |10.0762 [10.0736 [10.0711 [10.0685 |10.0659 |10.0534 |10.0608 | 49
41 9392 9417 9443 9468 9494 9519 9544 | 48 41 0608 0583 0557 0532 0506 0181 | 0456 | 48
42 9544 9570 9595 9621 9646 9671 9697 47 42 0456 0430 0405 0379 0354 0329 \ 0303 47
43 9697 9722 9747 9772 9798 9823 | 9.9848 | 46 43 0303 0278 0253 0228 0202 0177 | 0152 | 46
44 | 9.9848 | 9.9874 | 9.9899 | 9.9924 | 9.9949 | 9.9975 |10.0000 | 45 44 {10.0152 [10.0126 [10.0101 [10.0076 |10.0051 10.0025 [10.0000 | 45

/ 4 4 / 4 s & / g E s/ / 4 / i 4 \\rg'i

B o | s | a | sv | w | | o BEL O IES e | s | w | s | 2w | w | v (5

Cotangent ) ¥ 8 &

Tangent } ¥ $ F&




